
16.4 

7. 𝑇𝑢 = (2,1,3) 𝑇𝑣 = (1, −4,0) 𝑁(𝑢, 𝑣) = (12,3, −9)  

      4(𝑥 − 6) + (𝑦 + 15) − 3(𝑧 − 3) = 0 

13. 𝐺𝑢 = (cos𝑣, 𝑠𝑖𝑛𝑣, 1) 𝐺𝑣 = (−𝑢𝑠𝑖𝑛𝑣, 𝑢𝑐𝑜𝑠𝑣, 0) 

   ∫ ∫ √2𝑢4𝑑𝑢
1

0
𝑑𝑣

1

0
=

√2

5
 

15. 
𝜕𝑦

𝜕𝑥
= 0 

𝜕𝑦

𝜕𝑧
= −2𝑧 𝑑𝑆 = √1 + 4𝑧2𝑑𝐴 ∫ ∫ 𝑧√1 + 4𝑧2𝑑𝑥

3

0
𝑑𝑧

3

0
=

37√37−1

4
 

19. 𝐺(𝑢, 𝑣) = (2𝑐𝑜𝑠𝑢, 2𝑠𝑖𝑛𝑢, 𝑣) 𝐺𝑢 = (−2𝑠𝑖𝑛𝑢, 2𝑐𝑜𝑠𝑢, 0) 𝐺𝑣 = (0,0,1)  

         𝑑𝑆 = 2𝑑𝑢𝑑𝑣  ∫ ∫ 2𝑒−𝑣𝑑𝑢
2𝜋

0

𝑑𝑣
4

0

= 4𝜋(1 − 𝑒−4) 

 

16.5 

5. ∫ ∫ 13𝑥 − 13𝑦 − 4𝑑𝑥
1

0
𝑑𝑦

1

0
= −4 

7. ∫ ∫
9+3𝑦−𝑥2−𝑦2

√9−𝑥2−𝑦2
𝑑𝑥

√9−𝑥2

0
𝑑𝑦

3

0
= 9 +

27𝜋

4
 

9. ∫ ∫ 2𝑥(9 − 𝑥2 − 𝑦2) + 2𝑦(9 − 𝑥2 − 𝑦2) + 𝑥𝑑𝑥
√9−𝑦2

0
𝑑𝑦

3

0
=

693

5
 

11. ∫ ∫ 𝑦2 + 2 − 𝑥𝑑𝑥
1−𝑦

0
𝑑𝑦

1

0
=

11

12
 


